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Please determine the magnitude ¢ in Fig 17 (10%)

Calculate the required tension in cables BA and BC to support the 60-kg cylinder
shown in Figure 2. (10%)

. If the angle @ is 45 degrees, calculate the moment generated by the 4-kN force around
point A as depicted in Figure 3. (8%)

Calculate the reaction forces acting on the smooth, uniform bar with a mass of 20 kg,
as shown in Figure 4. (8%)

In Figure 5, the cart is holding a uniform crate with a mass of 85 kg. Calculate the
vertical reaction forces at the three casters located at points A, B, and C. Note that the
caster at B is not visible in the figure. Assume the mass of the cart itself is negligible.

(8%)

Calculate the forces exerted by the pms at points A and B on the two-member frame as
depicted in Figure 6. (8%)

Calculate the moment at point F on the beam as shown in Figure 7. (8%)
In Figure 8, a 45-kg disk is placed on a surface with a static friction coefficient of
ua=0.2. Calculate the maximum couple moment M that can be applied to the bar

without initiating motion. (8%o)

Determine the location of the centroid for the plate area depicted in Figure 9. (§%)

10.Calculate the moment of inertia around the x-axis as shown in Figure 10. (8%)

11.Calculate the moment of inertia of the equilateral triangle around the x' axis that passes

through its centroid, as depicted in Figure 11. (8%)

12.Determine the coordinates X and ¥ for the centroid C of the beam's cross-sectional

area shown in Figure 12, and then calculate the product of inertia with respect to the
x'and y'axes. (8%)
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